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1.  Attempt all questions.
2 Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4.  Use of simple calculators and non-programmable scientific calculators are permitted.
5 English version is authentic.
Marks
Q.1 | (a) | Define 1. Estimating 2. Costing 3. Engineering Contracting. 03
U1 | (M) | calul AU, AN ETL R, 51291 3. W) (13 391 sl 1521, 03
(b) | Explain the procedure for constructing Break-Even chart. 04
(W) | A5 &clel AL Uil Scl HIe{l UlsUL Hdl, oY
(c) | A company’s fixed cost is T 60000. Selling price and variable cost per | 07
product is X 30 and X 20 respectively. Find out the profit and safety
margin when total production is 15000 units.
() | 8 $Usflell 24U WL % 60000 B W5 ULSSeell QUL (SHA T30 WA | 09
Uldd WA 20 8. IR 56 Gallest 15000 <12l Sld AR 1§l wa
e Hd a1 e,
OR
(c) | The fixed cost of one production unit is ¥ 185000. Selling price of per | 07
product is X 5. Material cost per product is X 1.50. Other variable
cost/product is X 1.75. Find out the break-even point graphically and
mathematically.
(5) | A5 Gllest WsHeAl @1l WA T 185000 8. d Uld UlSs2 T 5 +(l | 09
QY1 (54A Uldlell Ulsses] dulgl 52 8. uld vlsse HleRue W 2
1.50 ¥4a) A UG WRA/ULSS2 X 1.75 8. ol ALseil wa dAL(Qlcdld d
K5 Bclel Ulge 2ltl.
Q.2 | (a) | List the types of forging operations and explain upsetting operation. 03
USL2 | (W) | 51001 v1URRUstell USIRL 2RLlc] el HUA (23] BI1URLed HHC). 03
(b) | Explain the procedure of cost estimation in Arc Welding. 04
(W) | L5 (S W vieloseil ulsul AHmdl. oY
(c) | List the various methods to find out depreciation and explain straight | 07
line method.
(5) | SRR Llbdl Hi2etl WAL RYSell ol U] el 22| 09
GLEet HYS YU,
OR
Q.2 | (a) | Listthe various types of forging losses and explain tong loss. 03
ygl2 | ) | [Aldd usiRel sleol dlildsll A€l olelldl 14 2lol dly (A9l | o3




HHos1d).

(b) | Explain the various pattern allowances. 04
() | (aldt usizeil et 1|16y yHodl, oY
(c) | List the various costing methods and explain specific order costing in | 07
detail.
() | (aldy uslell Wl uedldailell el weiid]l wa WRlss IR | 09
s1212L yerl [d [Aa1dd R Yuosdl.
Q.3 | (a) | Explain the procedure of estimation of material cost in Gas cutting. 03
Ual3 | () | A s(EoMi U2 Rud W viglose{l ulsul Yuetd). 03
(b) | List the factors affecting in arc welding cost. 04
(W) | 2415 A(ESIAH WAel A YR Sl URMO] UlE]l watldl, ¥
(c) | A 300 M.S. Pins which diameter is 50 mm and length are 200 mm are | 07
made by the forging process. 80 mm diameter bar stock is used for this.
If the cost of a bar is ¥ 100/metre, estimate the cost of making these pins.
Considering only shear loss and sprue loss.
(5) | 50 mm <ld A 200 mm dulee(l 300 M.S. [Uel SUEL UlsUL glL| 09
Wetldcllell 8. WL HIS 80 mm cletl 6dIR LS dluRaHi 441d 8. %]
W0 (5Hd 2 100/H122 1A d) 241 lell wstidall HiReoll Wleil viglo
S1aL HI 201U 4l el ¥y 1y AR HI ddl,
OR
Q.3 | (a) | Define the following terms associated with machine shop estimation. 03
1. Over run 2. Approach 3. Depth of cut.
U3 | (1) | Hellel 20U A1 450114 Uglal caluAld 5. 9. H1dR 61 2, AU | 03
3.5 s 52
(b) | State and explain the advantages and disadvantages of solar roof top. 04
(W) | AR wE21U W lo2ell SIAEL W S 1UEL [Adldd IR UHoMd). oY
(c) | Find the total cost of 400 pulleys of 1000 cm3 from the given details. 1. | 07
Cost of cast iron = X 20/kg 2. Pattern cost =% 700 3. Molder's wages =%
60/day 4. Number of molds prepared = 25/day/molder 5. Process scrap =
10% of net weight 6. Cost of process scrap = X 4/kg 7. Melting charges
= 20% of material cost 8. Overhead cost = 25% of material cost 9.
Density of cast iron = 7.8 gm/cm3. So, find the rate of casting per
kilogram
(5) | 1000 &lst AH. ofl 400 Yeloll §6 WA 14106 (A1) uell Qlell. 1. s1ke | 09
W [etef] of] (5Hd =3 20/kg, 2. Uest 5122 = 3 700 3. H1€S3] Adel = %
60/(€dY 4. AU Ul HIESe{l Yl = 25/(€o1/HIESR 5. UIAY BU =
A2 dogelsll 10% 6. WIAU Wusfl (BUd = 3 4/kg 7. Ae2lol U =
URRAL Well 20% 8. 3NdES WA = H[RRUL WUell 25% 9. 5122
W Rtef] eelcll = 7.8 gm/cm3 B. dl & (SElAIM S1RSLeA €2 2.
Q.4 | (a) | Explain the procedure of cost estimation of power produced by diesel | 03
generator set.
Ust4 | () | Slod weleR Aeell Gaust ddi Uldre] sl A21N2le sdlsl ulsul | o3
UHdl.
(b) | Explain the method for finding time for shaping operation performed on | 04
Shaper machine.
() | QU Hill U sAML Alddl QYL AlUQlel Hie dHYU Qlludl | oY
Y(2s{] Useg[d uHomdl,
(c) | A plate of 1 m x 2 m size is made by using the four pieces of size 100 | 07




cm x 50 cm x 1 cm by welding process. Find the cost of welding from
the following.

1. Welding speed 1 m/hour

1. Welding rod consumption 2 m/m weld

2. Labor cost X 20/hr.

3. Cost of welding rod X 15/m

4. Power consumption 1 kWA/m weld

5. Electricity charges X 5/kWA

(5) | 100 cm x 50 cm x 1 cm ol UIR 255kl WIS 1 m x 2 m HIueil W§e | o9
a(eso1e] weldallel 8. dl Ae5atefl (SHd ol Aefl tledd] uRell 211t
1. A(eSa15{ a(d 1 m/s4Ls
2. A[e531 ASell duRILL 2 m/m dEs
3. HoRl WA 2 20/5€LS
4. 452150l [5Hd T 15/m
5. [dYd 9yl 1 KWA/mM AES
6. [dyd 53 5/KWA
OR
Q.4 | (a) | Explain the cost elements of an Ice plant. 03
US4 | () | A8 Wis2etl Wl g2 5] qued). 03
(b) | Explain the procedure of estimation of labour cost in machine shop. 04
(04) | Hellet QUM HogR) Lilstl it 1ol Ulsul quxdl, oY
(c) | A circular aluminum rod of length 80 mm is reduced in diameter from | 07
50 mm to 40 mm in two cuts. Calculate the time required for turning
assuming cutting speed 20 m/min and feed 0.10 mm/revolution.
(5) | 80 mm duilgSdlonl WS ANALSR N [AUH U[OUlell AIY 50 mm | 09
ol 40 mm Yl A seui delsaii w1d 8. s(2a1 1S 20 m/min 4
515 0.10 mm/Rel&y2let t13] 2[e1oL HI2 %L Scll UHUA] ARIAT] 530,
Q.5 | (a) | Briefly explain the security bond. 03
U5 | () | RSR1E] Wles (Rl ¢sHi qudl. 03
(b) | List the provision of different conditions in a contract. 04
(W) | sle2lse Ml sl dlddl [(dlad uRdlsl eslaalssilsl 3R | oy
el
(c) | A maximum demand of 70 MW is met by one thermal power plant. The | 07
load factor of this plant is 45%. The operating cost of the plant is Rs.
1.95/kWh and capital cost Rs. 1900/kW. Estimate the per unit cost of
power produced by this plant taking interest and depreciation as 10% of
the capital cost
(5) | s AHd UldR W2 gl2L HedH 70 Ralldlesil Hidl Y2l &l 8. vl | o9
Wle2 Yl dlS $522 45% 8. Wlses{l 31Ul 5122 T 1.95/kWh sl
5(Ued 518 T 1900/kW 8. Ul wal dyR] 3(ued slesil 10%
d48a AL Wl G2 Gaul(ed UldRell Y12 £16 Wsil el sia)
OR
Q.5 | (a) | Briefly explain about Rate-Contract 03
USL5 | () |22 slealse (A9l gsHi quosdl, 03
(b) | Define Budget and list the various types of Budgets. 04
(W) | WB2eil el WYL 3el 6{o2all WAL WEIL USR] (G2 Welldl. oY
(c) | An ice plant with ammonia as refrigerant is producing 160 kw | 07




refrigerating effect. The evaporator theoretically rejects 1000 kJ/kg
energy. The theoretical compressor input is 185 kJ/kg. Mechanical
efficiency of the plant is 85 %. Actual hit absorption in cold chamber is
80 %. The plant is running 24 hours. Power cost is 10/unit and labour
cost are 2000/day. Determine the cost of ice producing/kg if the
overhead cost is ¥ 4000/day.

(5)

AUI(AYL Aseedlll WS WISH Wiz gRL 160 [(5dldle
U533 v¥52 Gzt eIy B. WL leR oil §AUIR2R 411 1000 k] /kg
el GWl Atrdifds A RBse 52U 8. Aedilds SPNUR Setye 185
kJ/kg ©. Wlseeil (He{lsq sletHdl 85 % ofl SIA HIS ARIAIHI
Adlel]l 8. 515 1o W54 (&2 A6\l 80 % &l B. Wl
¥ 561S SI1RA & B. Uld WA Uld Y12 T 10 vial HaYF] W] % 2000
UlA(est 1A dl e (31U WL % 4000 Ul (Eet t1R)A Uld SlelAniH
W16 Gllest W vl .

09




